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FE10.1 Consider a rectangular channel 3 m wide laid on a 1° slope. If the
water depth is 2 m, the hydraulic radius is

(A) 043m (B) 0.6m (C) 0.86m (D) 1.0m (E) 12m
FE10.2  For the channel of Prob. FE10.1, the most efficient water depth (best
flow for a given slope and resistance) is

A)Im B)1Sm (C)2m @) 25m (B)3m

FE102  If the channel of Prob. FE10.1 is built of rubble cement (Manning’s n ~
0.020), what is the uniform flow rate when the water depth is 2 m?

(A) 6m¥s (B) 18m¥s (C) 36 m’/s (D) 40 m¥s (E) 53 m¥s
FE10.4  For the channel of Prob. FE10.1, if the water depth is 2 m and the
uniform flow rate is 24 m%s, what is the approximate value of Manning’s
roughness factor n?

(A) 0.015 (B) 0.020 (C) 0.025 (D) 0.030 (E) 0.035

FE10.5  For the channel of Prob. FE10.1, if Manning’s roughness factor n ~
0.020 and Q ~ 24 m/s, what is the normal depth y,?

A 1m B)1.Sm (©)2m (D)25m (E) 3m
FE10.6  For the channel of Prob. FE10.1, if Q ~ 24 m’s, what is the critical
depth .7

(A) 1.0m (B) 126m (C) 1.5m (D) 1.87 m (E) 2.0m

FE10.7  For the channel of Prob. FE10.1, if Q ~ 24 m*s and the depth is 2 m,
what is the Froude number of the flow?

(A) 050 (B) 0.77 (C) 0.90 (D) 1.00 (E) 1.11




